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(Lesson 1— Lesson 5)
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KI iBE &R (3§ 10 /i, 314 5%)
A)TLE BT 4 R R R R & NESR A,B,C,D RILM A FRE SHEFMFA .
1. grasp
_A. homeland B. grammar C. examine D. grant
2. pretty % ¥ N 3
_A. telescope B. debt C. object D. sense
3. brgk i s " .

A. lean B. breathe C. great D. reasonable
4. impro\; 13 r A

A._ progress B. lose C. suppose D. phone
5. encoura—ge L I r

; trouble B. south C. ground D. loud
6. forellead_ " s b

A. horse B. honest C. hammar D. however

B) AR T 51 %t i 89 48 5%, Rl 48 /) 7 A MR 2 B 4] — AR B B 3K 0
7. — Where was Karl Marx born?

— He was born in Germany.

A. born,Germany B. Germany C. was, born D. he,born
8. — Did Galileo take Aristotle's theory for granted? '

— No, but he did experiments instead.

A. but, instead B. did, instead C. No, experiments D. No, instead

O UTHAXMERTF (D AF Q. AFG=EMFHR. HHX=HTFE MK
oL T R A A& .
9. (1)Henry; Did Mathilde have any jewellery of her own?
(2)Tom: No,she didn't.
(3)Henry: How did she get a diamond necklace then?
A (DR BEREG T B. (D FHE @ R G A
C.(DFHABEIF GBI D. (1R FHE ) &iFE



10. (1)Where did the story “The Blind Men and the Elephant” take place?
(2)1In India.
(3)Did the six blind men trust their own sense of touch very much?
CALC(DEEE O BER G AE B (D FA ) RERE G 7
C. (DREFEE@FAEG)FE D. (DFHEC) G

KII BTNIRZS (3 30 /A, it 43 15%)
A) BB A,B,C,D UANMERF, EHSAPRUEZE T EBRBENER.
11. The government wants very much to improve our living conditions.
A. make-++ better B. think+++ more impbrtant
C. prove-+ to be true D, test if++- are better
" 12. The famous scientist chose some bright students from that school.
A. picked up B. picked out C. picked off D. searched for

13. Charlie's birthday is one week and a half away.

A. after one and a half week B. in one and a half weeks time
C. in one and a half weeks' time D. one and a half weeks far away

14. About 400 years ago there lived in the city of Pisa a young Italian man named Galileo.

A. who's name was B. his name was
C. the name of who was D. whose name was
15. The necklace that Jeanne lent Mathilde was worth five hundred francs at the most.
A. costed B. costs C. cost D. had the price of
16. How much does the expensive car cost?
A. What B. How many money
C. What price D. What is the price

17.1 have made up my mind. I want to have the party here.

A. drawn a conclusion B. made a deéision C. to decide D. concluded

18. The second blind man said, “The elephant is more like a spear than anything else”.

A. looks best like a spear among anything else
B. looks like nothing else but a spear
C. likes a spear more than anything else

D. has the same look as a spear

B)7E A,B,C,D A ERPEHATUHEANZ AL IEHRESR.

19. The doctor gave the sick man

A. three advices B. three advice
C. three pieces of advice D. three pieces of advices
20. No matter how many times he failed, the young scientist the same experiment in

order to prove that his theory was correct.

A. went on to do B. went on doing C. went on to D. went on for



21. After the medical examination, the doctor to Charlie's mother why he ‘thought

that her son had just caught a little cold.

A. went on explaining B. went on to explain
C. went on speaking D. went on to speak
22. Yesterday it was weather that all the people stayed indoors.

A. such cold B. so cold C. such a cold D. terribly cold

23. Their failure(n. 228 most of them.
A. disappointing B. was disappointed
C. disappointed D. was disappointing
24. The U. S. astronaut is leaving for the Soviet Union (JRHE) next autumn.
A. the old scientist is talking with him B. whom the old scientist is talking
C. the old scientist is talking with D. who the old scientist is talking
25. In Lu Xun passed away (v. #fitlt) in
A. the thirties-++ his fifties B. his thirties-+ the fifties
C. the thirties--- the fifties D. his thirties-+- his fifties
26. The doctor did all to save the wounded soldier.
A. what he could B. he could
C. everything which he could D. for which he could do
27. The sports meet was put off the heavy rain.
A. because B. because of C. since D. as
28. The poor lady loved the diamond necklace so much that she it at such a low
price.
A. would not rather sell B. would rather not to sell
C. would rather not sell D. would not rather to sell
29. Though I had attended different kinds of dinners , I was invited to the national
banquet(n. &) held in the Great Hall of People Last October.
A. for many times++- the first time B. many times++- for the first time
C. much time--- the first time D. a lot of times--- the first time
30. Beihai Park is one of the most beautiful parks built about 300 years ago in
Beijing.
A. which was B. where were C. that were D. that was
31. In modern times, scientists have built powerful telescopes " they are able to study

the movements of the skies.
A. throught them B. through that C. through which D. using them
32. They went to see their teacher during those days he stayed in hospital. '
A. when B. which C. that D. on that

33. Have you ever visited the house Tan Tsitong used to give advice to Emperor (n.

3
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Dl

B %) Guang Xu?
A. that B. which C. where D. on which

34. All the students found the difficult physics problem.
: A. it is impossible to work B. it impossible to work out
C. impossible to work out D. it is not possible work out
35.1'll take wants to go.
A. anyone  B. the person C. whoever D. during
36.‘Was it during the First Revolutionary Civil War Period Yang Chengwu became
a general?

A. in which B. while C. that D. then
37. This factory will not take on anyone eyesight is weak.
A. of whom B. whom C. of that D. whose
38. The Russians, led by Lenin, socialism realities quite a long time

before the Second World War broke out.

A. turned--+ onto B. turned+++ into
C. had turned-+++ onto D. had turned:-+ into
39. The word “deer” has the same pronunciation the word “dear”.

A. of B. as Cuto D. like

40. Let's think of a situation this idiom
A. that--- can use . B. which-+++ can be used
C. where--- can use D. where+++ can be used

% = ¥4 (KU) 348 fo iR 5 A B A

KU SE = (3 25 /p L it 4 25%)

FEEETHEN £EEXE, AN TALANNMERHEFETUHEAAZ AL RES
®.

Many stories about famous people are not based on facts. They are like some of the stories
which people ﬂ about their friends, (4_2) are passed from a friend to a (43) friend. Some of the

most exciting stories (44) are passed from mouth to mouth in this way may be (45)in the end than

they (46)in the beginning, but probably they will end up(47)a very different stories . Each story-

tellerai—)somethin.g or leaves something out or changes sﬁhing,so by the time the story (49)in

a book it is very different(50)any basis(n. Z#l, #BE) in fact. 303
A man (51) tells a story does not always try to be accurate (adj. ¥& ¥ ) . He may not

believe that facts are necessary in the story. He may want to (52) people laugh or cry; he may
even want to(53)people to think. 366

A goodE is often told (54) many different languages. It may live through (55), and
millions of people may be (_52 ofﬁng‘ or listening to it. It is not the accuracy (n. ﬁ% of a

4



story (57) makes it live. The value (n. {/I{E) of a story does not come from its accuracy but
from itsTman interest or the way it is told.

An English writer wrote a new book, and month after it (58) his publisher told him that a
thousand copies (59) . That evening the writer had a dinner witm publisher and (60) American

friend. They talked about the new book, and the writer told the American that 10, 000 copies had
been sold. Later the pubiisher asked him (61) more accurate. “(62) an American,” said the writer,
“a thousand is nothing. I multiplied (v. -+ 5-+}§%€) the number by ten is to give him a true
(63) of the success (n. [, Zf)) of the book” . The writer was not famous (64) his accuracy but for

his stories;he knew very well(65)stories. His best stories will probably live for a long time.
41.A.say  B.tell  C.speak  D.talk ’

42. A. who B. that C which D. they

43. A. another B. other. C. the other D. friend's

44. A. who B. that C. which D. they

45. A. well B. good C. bad D. better

46. A. is B. will be C. were D. became ,

47. A. as B. like C. such as D. being i

48. A. adds B. adds up to C. add D. adds to

49. A, tells B. is told C. will tell D. will be told

50. A. from B. with C. to D. for

51. A. which B. who C. whom D. whose

52. A. force B. allow C. make D. cause

53. A. force B. allow C. make D. cause

54. A. in B. of C. using D. uses

55. A. many hundreds years B. many hundred year
C. many century D. many centuries

56. A. like B. fond C. interested D. love
57.A.for that  B.this  C.as  D.which
58. A. publishes B. published C. is published D. was published
59. A. is sold B. has been sold C. was sold D. had been sold
60. A. the B.a C.an D. that
'61. A. how had he not been B. why'had he not been
C. how he had not been D. why he had not been
62. A. For B. To C. With D. Like
63. A. idea B. thought C. knowledge D. thinking
64. A. for B. to C. from D. with
65. A. how he tells B. how can tell C. how about telling D. how to tell
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A.

During the Second World War it was very difficut for ordinary people to travel by plane,
because the seats were needed for important government and army people.

Mr. Brown worked for the government during the War. He acted as an ordinary cook but in
fact he was doing very secret (adj. 5% ) work, so nobody was allowed (v. f2i¥) to know how
important he was except a few very top people.

One day Mr. Brown had to fly to London to make a report to some important people in the
government and army. So he placed an order for a seat in a plane. But when Mr. Brown was about
to get onto the plane, an important army officer came to the airport at the last minute, and
Mr. Brown's seat was given to the officer, so Mr. Brown had to wait for the next plane which was
to fly to London two days later.

It was not until he reached London that the high rank officer discovered that the man whose
seat he had taken was the very one whose report he had flown to the city t‘o listen to!

66. During the Second World War,seats on the plane were in great need because

A. there were only a few civilian (& Fi ) planes

B. they were needed for thousands of people

C. they were mostly taken by the top people who were thought to be very important
‘ D. so many spies had to travel by plane
67.0nly a few top people were allowed to know how important Mr. Brown was because

A. he worded as an ordinary cook B. he did secret work for the government

C. he was too proud D. he didn't want to be famous
68. Mr. Brovyn's seat was given to a high rank officer because _

A. Mr. Brown was late for the plane

B. the officer would make an important report in London

C. the officer was thought to be much more important than Mr. Brown.

D. Mr. Brown was not able to pay some more money for the seat

69. of Mr. Brown's listeners knew the reason why Mr. Brown was late.

A. Only one B. Most C. All the few D. None

B.
The story is told about two old people named David and Rosy Jackson. Both of them had

very bad memory. For example, Rosy would forget to cook dinner, or David would show up for

6



work on Sunday, thinking it was Monday. One winter they were to take a long plane trip. When
they arrived at the airport (n. #L3%), thére were ten minutes left. In that situation anyone would
get onto the plane right away. But Mr. and Mrs. Jackson did not do so. They went to buy some
flight insurance (n. K 47 f# K&) first. Inmediately after they put a two-pound note into a
machine, their insurance policy (n. {8 #%) came out. "Who would get the money if the plane
crashed (v. EABR), I wonder? " asked Rosy. "My mother, of course,” her husband replied. “We!'ll
post the policy to her,now quick, give me a stamp, will you? ”he said. “The plane is going to take
off in another minute.” David put the stamp on the envelope (n. {& #), dropped it into a

postbox, and suddenly let out a ery. What do you suppose happened to him? He had posted their
plane tickets to his mother |

70. Rosy ‘was David's
A. friend B. mother C. sister D. wife
71. This passage (n. % ) tells us that David and Rosy
A. were always short of time B. always did everything in a great hurry

C. were very forgetful D. usually broke their word

72. After dropping a two-pound note into a inachine,they got

A. two tickets B. an envelope(n. {g§#})
C. a stamp D. some flight insurance

73. David meant to post his mother

A. two plane tickets B. a two-pound note
C.an empty envelope D. the flight insurance

74. Mr. Jackson made such a foolish mistake because

A. his memory was poor and he posted the letter in a great hurry
B. he had forgotten to bring a stamp for his mother's letter

C. he was worried about his mother

D. it was the first time for him to take a long plane trip,and he was worried about it

&

Light travels at a speed (n. # J§) which is about a million times faster than that of
sound. In one second, light travels about 300, 000 kilometres, but sound travels only 344
metres. You can get some idea of this difference by watching the start of a running match. If you
stand quite far away from the starter (n. %4 i), you can see smoke come from his gun before
the sound reaches your ears.

The fast speed of light produces(v. f=4:) some strange facts. Sunlight takes about 8 minutes
to reach us. If you look at the light of the moon tonight, remember that the light rays (n. B £8)
left the moon 1. 3 seconds before they reached you. The nearest star is so far away that the light
which you can see from it tonight started to travel to you 4 years ago at a speed of nearly 2

million kilometres every minute. The light from some of tonight's stars started on its journey (n.

7



jEE‘) towards you even before you were born. ‘

Thus, if we want to be honest, we cannot say, “The stars are shining brightly tonight.” We
have to say, "The stars look pretty. They were shining. four years ago but their light has just
reached our earth. ”

75. The best title(n. 3 H) of this passage is 2 N

A. Light Travels Faster than Sound

B. Stars Are Very Far Away from Us

C. The Speed of Light

D. It's Not Correct to Say “The Stars Are Shining Brightly Tonight”

76. If you stand 200 metres away from a man who is firing a gun to start a running match, you
will find out that

A. light travels a million times faster than sound
B. the smoke of the gun gets into your sight after the sound of the gun-shot
C. sound travels less fast than light 9

D. the sound of the gun will reach you at the same time with the light of the smoke

77. Sunlight obviously (adv. FH i #i) than the light of the moon.
A. has to travel a greater distance B. moves less quickly
C. travels much more quickly D. is less powerful

78. The scientific way of saying “The stars are shining brightly tonight” should be

A. the stars have been shining all the time
B. the stars seen tonight will be shining four years later
C. the stars were shining long ago but are seen tonight

D. the starlight seen tonight could be seen four years ago

79. The light of the nearest star you see tonight has been for years.
A. on the earth B. on the moon -
C. away from the sun D. away from itself
D.

At a country house in Belgium, there once lived a young elephant which was a pet(n. Z#&)
to the people. It used to come into the dining room after dinner and asked for food from the
visitors. One day, when a large party of visitors were sitting at the table, the elephant came round
and put its trunk between the visitors, begging for fruit or bread. One gentleman, however, instead
of putting any food into the trunk, took his fork (n. & ¥ ) and sent the little elephant away with
a stab (n. #l, ﬁ) . The animal left him quietly and went to other visitors, one after another, who
treated it kindly, because they thought a gentleman should not treat an animal in such a rude
way.

When it had finished its round of the table, it went out into the garden, broke a large branch

(n. $#E) off a tree, returned to the room again. The animal went straight to the gentleman who

8




had stabbed its trunk with a fork and shook the branch over his head.In a moment he was

covered with ants which came down from the branch. The ants filled his hair, ran down his

neck. Hard as he tried, he couldn't get rid of the ants. All the other visitors laughed heartedly

when they saw the gentleman in such a difficult situation because they thought he had treated the

animal so rudely and should be punished in this way.

80.

81.

82.

83.

84.

85.

From this story we should learn a lesson that

A. we should be friendly and polite not only to people but to animals as well
B. we can ill-treat(v. %) animals in whatever way as we like

C. animals don't mind being treated rudely

D. people should make friends with all wild beasts

The young elephant used to come to the 3 to ask

A. living-room+++ for food from the visitors
B. dining-room«+* the visitors for food

C. living-room=+- its master for fruit or bread
D. dining-room«+++ the visitors to play with it

The young elephant used from the gentleman.

A. its tusks to beg for fruit or bread

B. its trunk to ask for some food

C. its tusks to ask for a drink

D. its trunk to beg for a cup of coffee -
The young elephant immediately after the gentleman stabbed its trunk with a
fork.

A. showed its anger B. showed its satisfaction

C. didn't show any strong emotions(n. E{#) D. went out into the garden

In this story there are the other visitors disliked what the gentleman had done to

the elephant.
A. one fact that shows B. two facts.that show
C. no facts that show D. mahy facts that show

The elephant shook the branch over the gentleman's head because

A. it wanted to frighten the gentleman
B. it knew the ants hidden in the branch would fall all over him
C. it wanted to drive the gentleman away

D. it was a game that the elephant liked to play

Ul BEFREGE 1 )E, 4 15%)

¥ E 74 % BBC English  — % /5 & “What do you think of it? ” % |{ER & it — &

FYHBEEFSMITRERI B W R . TR % E R Tony Barnstone (), ZRER
#i ik & . BBC English Magazine, PO Box 76 ,Biush House,London WC 2B 4PH, U. K. »
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WRRERAS NS AT
(Lesson 6—Lesson 9) »
AL B S

# — 4 (K) H3E 207

KI J#E AR (3t 10 h&-L 145 5%
A)TREE BT 45 A RIS M AT I R & WE R ALB.C Dﬂ]%%ﬁﬁ*&ﬂi%ﬁiﬁ%*ﬂﬁmo
1. earth
A. clear B. learn C. spear D. dear
2- de_sign
A. majeity B. infpire s invifible. D, whifper
3. tower

A.owner B. sorrow C. row D.cow -

4. examine

A.E)_(ist B. e_xhibition c. gercise D. e_xpression
5. smooth 3

A. strengt_hen B. breaﬂe = toot_h D. mouﬂ
6. include

A. republic B.umbrella C. mulberry D, rule

BYARE T 3T iE 8 1 =, W& m] F Rt i in — R | E L7
7. —When did the emperor realize that he had been cheated?

—The time he was in the procession.

A. time ,was procession B. time , procession
C. in the procession D. was, in, procession
8. —What did the black people mainly do in the Civil War?

—They fought against slavery.

A. They ,slavery B. fought,against
C. They ,against D. fought,slavery

C) AT S A X 1 A F (1) ’7?(2) AFG = TFAR.FHX=18FE K
B TR ZAH 4EH.
9. (1) Mike;Did Agiao think of her brother one day?
(2) Jane;Yes,she did.
(3) Mike ; What did she do then?
A. (DR ) F18 () FAA B. (1)K (2) &8 (3) B iR
11



C.(DFAWOMEEGIER D (DFHE @ FIEG R
10. (1) Tom:How does Mary go to work? '

(2) Kate;By bus.

(3) Tom;:Always by bus?

A DFAR@BEGOFAE B (DREQMEEG) T

C. (FHA (2) B (3) B 1A D. (D FHE ) A (3 K&
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11. The American Civil War lasted four years.
A. continued for B. after all the others
C. as enough for _D. went on with
12. We must strengthen our national defence.
A. give power to B. make-++-stronger
C. make---be more powerful D. get strength for
13. 1don’t really care for tea; I like coffee better.
A. look after B. like
C. take care of D. would like to have
14. This jacket doesn’t fit him—— he is so fat.
A. is the right size for B. isn’t in good health.
C. isn’t the right size for D. isn’t unfit for
15. Don’t \'vhisper in the corner ,say whatever it is out loud.
A. speak loudly B. speak in a low voice
C. say noisily D. tell in a loud voice

16. All the people in the house share this bathroom.

A. use+together - B. take part in-+-together
C. divide+*+into many parts D. is used++-together
17. It was Jack who started the song,and everyone took it up loudly.
A. went on to sing it again B. added his voice to it
C. held the song up D. liked to sing it
18. We were all afraid to excite the wild beast because it might become very dangerous if it got an-
gry.

A. dared not to excite B. were worried about exciting

C. didn’t dare to excite D. weren’t brave enough to excite

B)Z A,B,C,D UMERPHEHTURAZOLHERER.

19. The captain said the war before he to the front.
A. had broken out+--had got - B. had broken out---got
C. broke away from=--got D. had broken in-s=got
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